
Online Chapter 9, Appendix O: Difference of Means Tests for Vote - Agree with Candidate 

Policy 

 

Rate the following reasons behind your choice for president. I chose my candidate 

for president because... I agree with my candidate’s proposed policies. 1 = not at 

all important; 2 = slightly important; 3 = moderately important; 4 = very 

important; 5 = extremely important 

 Group 

Mean 

Standard 

Error 

95% Confidence Interval 

Non-Millennial 3.933 0.043 3.849 4.019 

Millennial 3.850 0.047 3.757 3.942 

 Wald Test Non-Millennial = Millennial  

  F(1, 913) = 1.72  

  Prob > F = 0.190  

  N = 914  

Note: Means test run on estimate sample, given survey weights for Millennial and 

non-Millennial to correct for the oversample of Millennials. Data is 2016 survey. 

 

 


